=

YELOSHE

A10V

Engineering Machinery Appllcat|o

www.yeoshehydraulic.com

Efficient Performance
Innovative Technology

Reliable Quality and
Service

YEOSHE HYDRAULICS CO.,LTD.



Excavator Energy-saving PA10VO 63LA8DS -53R/VUC12N00

YEOSHE HYDRAULICS CO.,LTD.

Technical Data

Series PA10VO-53

Displacement | 63CC/REV

T LA*D Constant power, load-sensing, high pressure cut-off,
Control Type | 5. stage flow control

R- Clockwise

Viton

U Splined 15 thooth

C P127mm / Metric type (screw hole)

Service line port | 42 side port/ Metric type

Single pump NOO




Excavator Energy-saving PA10VO 63LA8DS -53R/VUC12N0O

YEOSHE HYDRAULICS CO.,LTD.

Dimension

Shaft size U type

U  Splined shaft 1 in
15T 16/32DP" (SAE 1744)

= 331
,gi'g 16
O 5
> -
=)
S
‘- 3 s
=1 A
JFLI
7
25 =
—
459
Port 12
- max. 220.5
12.7.
6.3 |
Flange
1SO 30194‘\
| |
i d
(¥ i
; . 8
1
15




Excavator Energy-saving PA10VO 63LA8DS -53R/VUC12NO00

YEOSHE HYDRAULICS CO.,LTD.

PA10VSO63-LA*D Control parameter

LA8D Factory setting 24KW

Diagrams& torque characteristic Pressure cut-off (LAXD)
T 300
1]
0
— 250}
iy
o 200
=
@ 150
o
o
S 100
£ { 8 B
g S
= " : Not included
0 100LA5 N | “in tl;e dttsalivery
! : conten
A 4 (check the page12 form) ' w
i P | =
“LAG Pressure and flow(LAXDS)
|- LAB ol N - i
P !
£ — .| Notincluded
= il gy frorEomsie e 1| 1 inthe delivery
= =—— : 3 e
) “ LAB '@f. | },/Z‘Jontents
E .. ;"""'"'l . '4
= be 4

Flowav [@]

Port use

B Working pipeline

S Suction pipeline

L. L, »| Case drain(L1 plugged)
X Control pressure -




Excavator Energy-saving PA10VSO 71DFLR-31R/VSC42N0O

YEOSHE HYDRAULICS CO.,LTD.

Technical Data

Series PA10VSO /31

Displacement | 71CC/REV
DFLR Constant power, load-sensing, high pressure cut-off,

Lo ntrol Typ_e_ 2-stage flow control
Directionofotation|  R- Clockwise
Sea[s Viton

S Splined 14 thooth

C P127mm / Metric type (screw hole)

Service line port | 42 side port / Metric type

Single pump NOO




Excavator Energy-saving PA10VSO 71DFLR-31R/VSC42N0O

YEOSHE HYDRAULICS CO.,LTD.

Dimension

Shaft size S type

0.50 (12.7)_ 713 (181)
0.24 (6). _ 4.53 (115)
Flange
1SO 3019-1 \ =] 6‘.:‘0;
e 5 ™~
S Nf
] 1 iy 9
on o : D F=io
85 ¢ ] - g
oS¢ e i 1 E
P | 1 1
o B S S
= | =
£ o» | e o
: o | ; I
- { 1': : (] 'ﬂ' I|II L\:_ﬂ' _4 .
%‘%—L L1 DIA 713 (@181)
09 (53).. 8,54 (217) | 8.27 (210)
' | T423(1075) 5.63 (143)
10.12 (257) 6.30 (160)
+ Valve'mounting for
) . W ccw rotation
Splined shaft 1 1/4 in
14T 12/24DP 1}{SAE J744) -SAE Size
& 1.87 (475 Vle\n(r Vv | View W
s 2.06 (52.4
m
o  [875(9) 0.98 (25)
o)
3 q o 7 e 0
by o~
) = = g %ﬁ_ |
L e gl [ 5]
N A I X
1.56 i |
~ (39.5) 1.69
(42.9)
2.18 (55.4)




Excavator Energy-saving PA10VSO 71DFLR-31R/VSC42N00

YEOSHE HYDRAULICS CO.,LTD.

PA10VSO71 Parameter

Max speed 2600RPM / Rate speed 2200RPM
Using pressure 28Mpa / Max pressure 35Mpa

___ _n=1500 rpm

_ n=2200 rpm
160 T I ~ 80
140 J —< 79
E 120 T le0 £
é 100 F 5’__._____:"_'_“__:_ 50 :.__.
. S S L
% 60 Pqv max 30 §-
40 [ 20 &
20 L TR o 10 §
0 -FEm=EEmeer b [T === -

0 50 100 150 200 250 280

Operating pressure[bar]

Constant power+ load-sensing+ high pressure cut-off
+ 2-stage flow control 28KW

¥ .

7

i ~—71 | Not included
A10VSO71DFIR  [Eces Pz | Lin the delivery
' : YR | contents
Pressure flow characteristic : w 7
i e Aeenn i
i A o
R
ahesog ’
T—ﬁézi B
a1l
i
I
|
l
|
l
; |
L1 S



Excavator Energy-saving PA10VSO28DFLR/31R-VSC12N0O

Load-sensing, KW

YEOSHE HYDRAULICS CO.,LTD.

Technical Data

Series PA10VSO /31

Displacement 28CC/REV

DFLR Constant power, load-sensing, high pressure cut-off,
2-stage flow control

Direction of rotation| R- Clockwise

Control Type

Seals Viton

Shaft S Splined 13 tooth

Mounting flange| C @101.6mm / Metric type (screw hole)

Service line port | 12 side port/ Metric type

Single pump NOO




Excavator Energy-saving PA10VSO28DFLR/31R-VSC12N0O

Load-sensing, KW

YEOSHE HYDRAULICS CO.,LTD.

Dimension

DFR/DFR1 — Pressure and flow control, hydraulic
Clockwise rotation

Before finalizing your design request a certified
installation drawing.
Dimensions in inches and (mm).

Valve mounting for

5.47 (139) ccw rotation
0.37 (9.5) 3.54 (90) \ A
. 0.25 (6.3) L b,\h) L Mk s
ISO 3019-1 \ | &=L WI=S
= o D..-—-.,?_ﬁo o I E ﬂ)-
i , ' = , : ] > D =%
oo ‘ﬁ | \ e é
DB‘; 3 [ H 5
802"5 ' | =N
vq;tm e Bl i ] v -.6’ |
& SovlbErT= 3 o= §
S, — o - 5
“° = N
i 1
0.55 (14) j 5.75 (146) ..‘
1.57 (40) 6.46 (164) 6.46 (164)
A 5.35 (136)
W
s
Splined shaft 7/8 in
13T 16!32DF’”(SAE J744)
£ 1,30 (331 View V View W
8 0.63 (16) -SAE Size
c;_'g 0.20(5 W 0.88 (22.2) = §
=~
: pelll OF %ﬁ sgfe e\ ®
I | y B2 S| X |
Py 58|
(251) ' © ©°
119
1,61 (41) (30.2)



Crane double pump PA10VSO28 SERIES

YEOSHE HYDRAULICS CO.,LTD.

Technical Data

Series PA10VSO /31
Displacement | 28CC/REV

Control Type DR Two-point control, directly operated

Directionof rotation| R- Clockwise
Seals P NBR

Shaft S Splined 13 tooth

Mounting flange| C @101.6mm / Metric type (screw hole)

Service line port | 12 side port/ Metric type

Single pump NOO




Crane double pump PA10VSO28 SERIES

YEOSHE HYDRAULICS CO.,LTD.

Dimension

DFR/DFR1 — DFR/DFR1 — Pressure and flow control, hydraulic Before finalizing your design request a certified
Clockwise rotation installation drawing.
Dimensions in inches and (mm).
A% Valve mounting for
5.47 (139) [ . ccw rctlation
0.37 (9.5) 3.54 (90) X \ _
Fianal 0.25 (6.3) L \ & L -: 58
1SO 3019-1 \ % - =S
| ‘\‘ 2 F5e) @ E :
— i 1 =l
sfd ; \ S 7] [E
S %7 ] 'I 4 | !
220 I | it . UM
‘rs § E— -6 |l = | ;
i o)
B o
|
0.55 (14) \ s _ 5.75 (146) I
1.57 (40) \Lt o sa < 6.46 (164)
8.11 (206) 3.29 (83.5) 4.67 (119)
= T : 5.35 (136)
w
S
Splined shaft 7/8 in
13T 16/32DP " (SAE J744)
s 1.30 (3341 View V View W ca
@l lo63e) 088(22) & i ize
! o™
©[0.20 (5 () P S
iy = 8 i S5 1° 8
& N g2 a8t
g, Tl - 3
| N0 (@
0.99 119
(251)_|P (30.2)
1.61 (41)

10



Crane double pump PA10VSO28 SERIES

YEOSHE HYDRAULICS CO.,LTD.

PA10VSO28 Paramete,Coupling for double pum

Dimensions through drive

K01 flange I1SO 3019-1 (SAE J744 - 82-2 (A))
Coupling for splined shaft according to ANSI B92.1a

-SAE Size
CutA-B 5/8 in 9T 16/32 DPY(SAE J744 - 16-4 (A))
) A, NG (A A A AP
-—T 18 716 039 170 M10x1.5,
1] 5-: (182) (10) (43.3) 0.57 (14.5) deep
J " o 28 803 039 133 M10x1.5,
/_/ - (204) (10) (33.7) 0.62(16)deep
-~ o2
Y [R5 45 1902 042 210 M10x15,
= = 155 (229) (10.7) (53.4) 0.62(16) deep
s|g‘ 71 1051 046 241 M10x1.5,
o' (267) (11.8) (61.3) 0.78 (20) deep
! 100 (1331 041 256 M10x 1.5,
\ﬁ| @ 0.39 (338) (10.5) (65) 0.62 (16) deep
(10) 140 13.78 043 3.04 M10x1.5,
to mounting flange A, (350) (10.8) (77.3) 0.62(16)deep

11



YEOSHE HYDRAULICS CO., LTD.
YEOSHE BEST CHOICE

Innovative Technology
Efficient Performance
Reliable Quality and Service

B E R ERA S
YEOSHE HYDRAULICS CO., LTD.
413 BEAHHEIEER T — K685y

No.68, Wugong 1st Rd., Wufong Dist., Taichung City, Taiwan, 413
TEL : +886-4-23332339 FAX : +886-4-23333817 E-mail : yeoshe@yeoshe.com.tw

BEEMEEE Dongguan TEL © +86-769-85965158 FAX : +86-769-81635359 E-mail * yeoshe@yeoshe.com.tw
8=z Shanghai TEL : +86-21-69785786 FAX : +86-21-69785787  E-mail : yeoshe@yeoshe.com.tw

#T4H™ Distributor

www.yeoshehydraulic.com

IRIEFE BIEDATE
Copyright © 2018 by YEOSHE



	A10V工程應用專案-英-co-01
	A10V工程應用專案-英-co-02
	A10V工程應用專案-英-co-03
	A10V工程應用專案-英-co-04
	A10V工程應用專案-英-co-05
	A10V工程應用專案-英-co-06
	A10V工程應用專案-英-co-07
	A10V工程應用專案-英-co-08
	A10V工程應用專案-英-co-09
	A10V工程應用專案-英-co-10
	A10V工程應用專案-英-co-11
	A10V工程應用專案-英-co-12
	A10V工程應用專案-英-co-13

